Geometry Problems Mark Scheme
1(a) 109° 71° [1] Reasoning
A B
Angles on a straight line add up to 180°
x = 180° — 109° = 71° [1] Calculation
1(b) All angles round a point add up to 360° [1] Reasoning
360 — (100 + 115+ 70) = 75° [1] Calculation
2(a) Angles on a straight line add up to 180° [1] Reasoning
x =180 — 105 =75° [1] Calculation
2(b) Angles in a triangle add up to 180° [1] Reasoning
y =180 — 75° — 35° = 70° [1] Calculation
3@ Angles in a quadrilateral add up to 360° [1] Reasoning
x = 360 — (115 + 85 + 65) = 95° [1] Calculation
3(b) Angles on a straight line add up to 180° [1] Reasoning
y = 180 —95 = 85° [1] Calculation
4(a) Base angles of an isosceles triangle are equal. [1] Reasoning
70 + 2x = 180
2x =110 [1] Calculation
x =55
4(b) Base angles of an isosceles triangle are equal. [1] Reasoning
¢<DFE = 61
61+61+y =180 [1] Calculation
y =58
5(a) Anglezs ;16(? q_u?gsr"f[ig _?_d6d 5§p=t% 030600 [1] Reasoning & calculation
5(b) Angle?cr 151830'[rziig(r21t4li-r:e83§1d=u7p 6t°0 180° [1] Reasoning & calculation
Base angles in an isosceles triangle are the same
5(c) 222+Z7=6 1=0180 [1] Reasoning & calculation
z =52°
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